- 0 — - ‘ =
KONTOR ;
_ WC G 24,6 m? J
iTH =270 43 m? TH=270m 35 L
i 1 108 j éc
113 SL PASSAGE o
FRD clll 99 me i
(]1:7 m2 TH=250m
TH=270m f S
, i
il
i [5G —L
Ml 107
KONF KONTOR
20,6 m? 15,6 m?2
TH=270m TH=270m
. Ll
106 H'T
L1 KONTOR :
I[ 16,1 m2
TH=270m
r =
i 1100 C
KORR
15 A M58 135 m?
| PENTRY  PAUS  m-este i 119 A 119 B
5 50m2 76 m mlgL ) ENTRE2
m] L H= 3mm T NOD THe To
[ [K/F ]
i A
118, o res. aReeL ‘
KRIV, FRD, RES. ARBPL |l .
|| 89 m2 008 “—— 120 M
TH=270n KORR KONTOR
r- M6 me 16,1 m?
TH=250m [ TH=270m
|T/ 121
17 SN L
PAUS TH=270m
14,0 m? _
TH=270m
I & =R
|‘ 1oo A .
: K [am] 60l e 4 UT NOD| ™
18 — 108 m? A
1 HOTESRUY L e N
7 m? 1 7]
TH=270m \ / ——a Yy r:_'_:_.
- \ 'D
101 1 105‘-—-
-- b7l VPN
Ut E\i:jm TH':zr.nsm {2500 Tﬁ:TsE
L T ¥5 @b
= = 1|




	Page 1

